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HPE_CIEF10-Zapfenempfindlichkeit y−max(λ)=1
l−F10,1(λ)=B11x

−
F10,1(λ)+B12y

−
F10,1(λ)+B13z

−
F10,1(λ)

B1j 0,2170 0,8357 −0,0435 (λ~570)
Q00:Σl−F10,1(λ)=23,82

xF10,1=0,3062 yF10,1=0,3115
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HPE_CIEF10-Zapfenempfindlichkeit y−max(λ)=1
m−F10,1(λ)=B21x

−
F10,1(λ)+B22y

−
F10,1(λ)+B23z

−
F10,1(λ)

B2j −0,4299 1,2038 0,0862 (λ~545)
Q00:Σm−F10,1(λ)=21,22

xF10,1=0,3062 yF10,1=0,3115
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HPE_CIEF10-Zapfenempfindlichkeit y−max(λ)=1
s−F10,1(λ)=B31x

−
F10,1(λ)+B32y

−
F10,1(λ)+B33z

−
F10,1(λ)

B3j 0,000 0,000 0,4657 (λ~445)
Q00:Σs−F10,1(λ)=13,67

xF10,1=0,3062 yF10,1=0,3115
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HPE_CIEF10-Zapfenempfindlichkeit Ysum=100
l−F10,s(λ)=B11x

−
F10,s(λ)+B12y

−
F10,s(λ)+B13z

−
F10,s(λ)

B1j 0,2170 0,8357 −0,0435 (λ~570)
Q00:Σl−F10,s(λ)=99,56

l−F10,s(λ1,m,2)=2,03, 4,09, 2,03
λ1,m,2=503, 565, 618
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HPE_CIEF10-Zapfenempfindlichkeit Ysum=100
m−F10,s(λ)=B21x

−
F10,s(λ)+B22y

−
F10,s(λ)+B23z

−
F10,s(λ)

B2j −0,4299 1,2038 0,0862 (λ~545)
Q00:Σm−F10,s(λ)=88,70

m−F10,s(λ1,m,2)=2,13, 4,29, 2,13
λ1,m,2=489, 540, 584
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HPE_CIEF10-Zapfenempfindlichkeit Ysum=100
s−F10,s(λ)=B31x

−
F10,s(λ)+B32y

−
F10,s(λ)+B33z

−
F10,s(λ)

B3j 0,000 0,000 0,4657 (λ~445)
Q00:Σs−F10,s(λ)=57,12

s−F10,s(λ1,m,2)=2,58, 5,17, 2,58
λ1,m,2=420, 445, 473
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Wellenlänge λ /nm
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HPE_CIEF10-Zapfenempfindlichkeit l−max(λ)=1
l−F10,n(λ)=[B11x

−
F10,n(λ)+B12y

−
F10,n(λ)+B13z

−
F10,n(λ)]/

B1j 0,2170 0,8357 −0,0435 (λ~570)
Q00:Σl−F10,s(λ)=99,56

l−F10,s(λ1,m,2)=2,03, 4,09, 2,03
λ1,m,2=503, 565, 618

CGN90−8A_Q00

Wellenlänge λ /nm
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HPE_CIEF10-Zapfenempfindlichkeit m−max(λ)=1
m−F10,n(λ)=[B21x

−
F10,n(λ)+B22y

−
F10,n(λ)+B23z

−
F10,n(λ)]

B2j −0,4299 1,2038 0,0862 (λ~545)
Q00:Σm−F10,s(λ)=88,70

m−F10,s(λ1,m,2)=2,13, 4,29, 2,13
λ1,m,2=489, 540, 584


